Economics 101

Spring 2005

Practice questions #2.

Answer Key

1. 
a) Before opening trade, the equilibrium price is $60 and the equilibrium quantity is 40. After opening trade, quantity demanded is 70 and quantity supplied is 10. Therefore, the level of automobile imports is 60.

b) Before opening trade, the consumer surplus is $800 and the producer surplus is $800. After international trade occurs, the consumer surplus increases to $2450 and the producer surplus drops to $50. Therefore, the net gains from trade is $2500-$1600=$900.
c) At a price level of $40, the quantity demanded is 60 and the quantity supplied is 20; therefore, the imported quantity is 40.

d) Tariff revenue =import x tariff= 40x$10=$400

e) The deadweight loss is the shadowed area in the picture 1. It equals ½ (20-10)10 +     ½ (70-60)10 = $100.

(see also picture 1)

f)  With the quota program, the supply function with the quota when the price is greater than $30 is given by P =Qs - 20. (shift the x-intercept of the supply curve by an amount equal to the quota level). Therefore, the equilibrium price is $40 and the total quantity of automobiles demanded is 60. The import level equals 40 automobiles.

(see also picture 2)

g) After the quota program, the consumer surplus is $1800 and the producer surplus is $200. Therefore, the total gain from trade with the quota is $2000, which is less than the gains from trade without the quota ($2500). If you compute the net gains from trade with the quota to no foreign trade, you find the net gains are equal to $400:  people in Ireland are better off with a quota than there are with a closed economy.
h) The tariff program is better since the government of Ireland receives tariff revenue from it while with the quota program it does not. 

2. Multiple choices

1) c. The highest revenue is yielded when point elasticity equals to one. Therefore, it is at quantity equal to 5 and price equal to $5.

2) b. The elasticity of supply is identical in both markets but demand in Japan is more elastic. Therefore, the deadweight loss in Japan is larger. Next, in the United States, a demand curve is less elastic than a supply one; therefore, the tax incidence falls more heavily on consumers. Finally, tax incidence falls equally on both consumers and producers in Japan.

3.) d. Movie tickets and popcorn are complementary goods. Therefore, a decrease in the price of movie tickets will shift the demand for popcorn to the right. However, an increase in the price of corn will shift the supply of popcorn to the left. Thus, the equilibrium price of popcorn will increase but the equilibrium quantity cannot be determined.

4) a. The equilibrium price is $10 and equilibrium quantity is 20. At this point, the point elasticity of demand equals 1.

5) e. The equilibrium quantity is equal to 3 and the equilibrium price is equal to $7. Since the price floor level is not binding (the set price floor is below the equilibrium price), Corn is traded at a price of $7 and there is no excess supply.
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